HEDEDE ] _~ 5@9 oo tillegg av brok (riktig brok) (feil brok)

StudentName: ExamDate: ExamScore:
5 2 3 1
4+ == — 4 - =
2 9 8 5
4 3 4 5
-+ = — 4 - =
7 5 7 6
1 7 3 7
7 3 7 8
1 3 3 5
g8 2 6 7
2 2 3 6
5 5 8 5
7 4 1 3
3 5 2 6
1 4 2 1
4+ - = — 4 - =
4 8 7 2
2 3 4 3
4+ = — 4+ = =
6 8 5 9
2 6 5 2
— 4+ - = — 4 - =
3 9 4 9
3 3 I 1
4+ = — 4 — =
5 4 3 6
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4 £
b [ éiﬁ 88 tillegg av brek (riktig brek) (feil brak)

StudentName: ExamDate: ExamScore:
5 2 49 13 3 1 23
e et o=

2 9 18 18 8 5 40

4 3 4] 6 4 5 59 17
— 4+l = =]— e
7 5 35 35 7 6 42 42
1 7 52 10 3 7 73 17
== e
7 3 21 21 7 8 56 56
1 3 13 5 3 5 17
4= Z+Z=_=12
8 2 8 8 6 7 14 14
2 2 4 3 6 63 23
= 4+ ="=1=
5 5 5 8 5 40 40
7 4 47 2 1 3

st —-=—=3— —+-=1

3 5 15 15 2 6

1 4 3 2 1 11

4+ == ==

4 8 4 7 2 14

2 3 17 4 3 17

4+ = 4+ = =1=
6 8 24 5 9 15 15
2 6 4 1 5 2 53 17
St =_" == e
3 9 3 3 4 9 36 36
3 3 27 7 1 1 1

S+t =l o — ==

5 4 20 20 3 6 2
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